Class 12 C
English Holiday Homework

A. Revise the Lessons:

1. The Last Lesson

2. Lost Spring

3. Deep Water

4. The Rattrap

and also prepare the Note Making of the same (Do it in your Notebook)
B. Also write the Notice and the Job Application from the PT 1 Question Paper
in your Notebook.

Summer Holiday Homework Subject - Yoga

Prepare Shatkarma in detail (definition, procedure, types, benefits and
precautions)

By Shrikant Yadav

COMPUTER SCIENCE --

1. Revise and Practice Class 11 and 12 Python concepts covered.
2. Complete all 11 and 12 programming questions given for practical file. (They are
needed in both hardcopy and softcopy)

ECONOMICS

Answer the following questions

1. Distinguish between domestic product and national product by giving suitable
examples.

2. National income is always greater than domestic income.Do you agree with the
given statement support your answer with a valid reason.

3. Suppose in an imaginary economy, gross domestic product at market price in
X2019-20 was, 5000 crore ,national income was 3500 crore ,net factor income paid
by the economy to the rest of the world was X450 crore, and net indirect taxes was
X400 crore .Estimate the value of consumption of fixed capital for the economy.

4. Which of the following item is a part of compensation of employees?Give reason
for your answer.

e Entertainment allowance to an employee to entertain business guests
e Employers contribution to Gratuity fund of the employees



o Rent fre Free accommodation to employees
e Interest paid by an individual on loan taken.

5. Calculate gross national product at factor Cost.
e Wages and salaries 2000

e Rentandinterest 800

e Corporate tax 500

e Undisturbed profit 300

e DiVidend 200

e Depreciation 150

[ J

Net factor income from abroad (-50)
Complete the numericals based on income method.Given in Sandeep Garg.

Business Studies

1. Write down the Techniques of Scientific Management, Principles of Scientific
Management and also the Principles of General Management in your Register and learn the
same thoroughly.

2. Find out the answers of the questions given in your Question Paper of PT 1

Class :-12-C

Sub :- Accountancy
Solve NCERT text book question

Chapter :- Accounting for Partnership: Basic concepts

Question no. 1to 43

Chapter :- Admission of a Partner
lllustration no :-7,8,11,12 14,15 17

Question no. 1 to 17.
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Relations and Functions i

1. Let the function if” : N — N be defined by

fix)=2x+3,% x € N.Then '/ is (1 mark)
(a) not onto

() bijective function

(c) many-one, into function

(d) None of these

- A relation defined in a non-empty set A4, having n
elements, has (1 mark)
(a) n relations (b) 2 relations
(c) n relations (d) 2" relations

- A relation R in human beings defined as
R={(@a,b):a,be human beings ; a loves b} is (1 mark)
(a) reflexive
(b) symmetric and transitive
(¢) equivalence
(d) neither of these

- A function f: R — R is defined as f{ix) = x> + 1. Then

the function has [CBSE 2021] (1 mark)
(a) no minimum value

(5) no maximum value

(¢) both maximum and minimum values

(d) neither maximum value nor minimum value

. Let A= {a, b, c} and the relation R be defined on A, as

follows: R= {(a, a), (b, c), (a, b)}. Then, write minimum
number of ordered pairs to be added in R to make R
reflexive and transitive. [NCERT Exemplar] (2 marks)
Given set A= {a, b, c}. Is relation R = {(a, c)} transitive?
(2 marks)
Prove that the Greatest Integer Function f: R — R,
given by f(x) = [x] is neither one-one nor onto. Where
[x] denotes the greatest integer less than or equal to x.
[NCERT] (2 marks)

LetA={1,2,3},B={4,5,6,7} and let
/=11, 4), 2, 5), (3, 6)} be a function from 4 to B.
Show that f'is one-one. INCERT] (2 marks)
Let f: N — N be defined by f(x) = 3x. Show that fis
not onto function. fHOTS] (2 marks)

10. Let the function / : R — R be defined by f (x) = cos x
¥ x € R. Show that fis neither one-one nor onto,
[NCERT Exemplar| (2 marks)
11. Determine whether the relation R defined on the set
R of all real numbers as R = {(a, b) : a, b € R and
a-b+ Y3 € S, where S is the set of all irrationa]
numbers}, is reflexive, symmetric and transitive.
[Ajmer 2015] (3 marks)
12. Given a non empty set X, consider P(X) which is the
set of all subsets of X. Define the relation R in P(X) as
follows: For subsets 4, B in P(X), ARB if and only if
A < B. Is R an equivalence relation on P(X)? Justify
your answer. [NCERT] G marks)
13. Let A and B be sets. Show that - 4 x B — B x A such that
~ fla, b) = (b, a) is bijective function. [NCERT] (3 marks)
14. Let L be the set of all lines in XY plane and R be the relation
in L definedas R={(L,,L,)): L, is parallel to L,}. Show
that R is an equivalence relation. Find the set of all fines
related to the line y = 2x + 4. [NCERT] S marks)
15. LetA = {x € Z : 0 <x < 12}. Show that
R =1{(a,b):a,b € A, |a-b| is divisible by 4} is
an equivalence relation. Find the set of all elements
related to 1. Also, write the equivalence class 2}
[CBSE 2018] (5 marks)
16. Let N denote the set of all natural numbers and R be the
relation on N x N defined by (a, b) R (c.a)if
ad (b + ¢) = be (a + d). Show that R is an equivalence
relation. [DoE: Delhi 2015] (5 marks)

17. Letf: N — N be defined by

"+ Lif nisodd
=1 5 foralln e N.
> if nis even
State whether the function £ is bijective. Justify your
answer. INCERT] (5 marks)
18. Show that the function f': R — fxeR:-1<x<1}

defined by flx) = —X X€R is one-one and onto
function. b ‘
[NCERT] (5 marks)
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Relations and Functions

In the following questions, a statement of assertion (A) is

followed by a statement of reason (R). Choose the corr ct
answer out of the following choices. )

(@) Both 4 and R are true and R js the correct explanation
of A.

() Both 4 and R are true but R is
explanation of A.

(c) A is true but R is false.

(d) A is false but R is true.

1. Assertion (4): Inset 4 = {1, 2, 3} a relation R defi
e ned
as R={(1, 1), (2, 2)} is reflexive.

not the correct

1. A general election of Lok Sabha is a gigantic exercise,

About 911 million people were eligible to vote and voter
turnout was about 67%, the highest ever

ONE — NATION
ONE - ELECTION
FESTIVAL OF
DEMOCRACY
GENERAL ELECTION —

- MY'VOTE
2019 MY VOICE

Let 7 be the set of all citizens of India who were eligible
to exercise their voting right in general election held in
2019. A relation ‘R’ is defined on I as follows:
{R={(V,, V,): ¥,, ¥, € I and both use their voting
right in general election — 2019}

(7) Two neighbours X and Y € I. X exercised his
voting right while Y did not cast her vote in
general election-2019. Check whether Xis related
to Y or not.

(i) Mr. ‘X" and his wife ‘W both exercised their

voting right in general election-2019. Show that
(X, W) e Rand (W, X) € R. .

(7if) Three friends F|, F, and F exercised their voting
right in general election-2019. Show that
(F, F,) € R, (F, F,;) € Rand (F), F3) € R.

OR

Show that the relation R defined on set [ is an

equivalence relation.

Reason (R): A relation R is reflexive inset 4 if (a,a) e R
foralla e A.

- Assertion (4): In sct A = {a, b, ¢} relation R in set 4,

given as R = {(a, c)} is transitive.
Reason (R): A singlcton relation is transitive.

- Assertion (A4): Givenset 4 = {1,2, 3, ... 9} and relation

Rin sct A x Adefined by (a, b) R (¢, d) ifa+d=b+c,
be an cquivalence relation. The ordered pair (1, 3)
belongs to equivalence class related to [(5, 3)]

Reason (R): Any ordered pair of 4 x A4 belongs

to equivalence class [(5, 3)] if (x, y)R (5, 3) V¥
(x,y) e 4 x A,

- Sherlin and Danju are playing Ludo at home during

Covid-19. While rolling the dice, Sherlin’s sister Raji
observed and noted that possible outcomes of the throw
every time belongs to set {1, 2, 3, 4, 5, 6}. Let 4 be the
set of players while B be the set of all possible outcomes.

A={S8,D},B={1,2,3,4, 5,6}
(?) Let R : B — B be defined by R = {Ce,») i yis

divisible by x}. Show that relation R is reflexive
and transitive but not symmetric.

(1) Let R be a relation on B defined by R = {(1, 2),
2,2),(1,3),3,4), (3, 1), (4, 3), (5, 5)}. Then
check whether R is an equivalence relation.

(#ii) Raji wants to know the number of functions
from 4 to B. How many number of functions
are possible?

OR

Raji wants to know the number of relations

possible from 4 to B. How many numbers of
relations are possible?
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Inverse trigonometric functions

1. Principal value of the expreasion cos™[cos(~680%)] is

(@) -23“- ®) -39& :
34n " 6.
) 1
;. Iftan! x = sm-l(—/—i-)' then x is equal to 7.
Sn

(@) vy ®) 1
8.

y 3% n

©) 2 @ z

3. Find the principal value of cos“(coszg’!'-).

Write the principal value of each of the following 10.
(Exercises 4 to 9):

(-3 i

4. sm 2 INCERT Exemplar; DoE) '

-

- e

sec '(-2) IDoE]
-11-.4-1 elhi 2012
cos (2) 2sin ( 2). [Delhi 2012}
(/3
' ——
sin ( 2 )
sec"(-—z-).
/3
1
cos"(“f-z—) (NCERT]

Find the value ofm"[st(Zsin"—;-)l NCERT]

Find the value of tan"'(1) + cos"'(- %)4— sin"(¢ %)

INCERT]

1. The principal value of sin™" (sin 2—") s (1 Mark

Shown below is graph of function °f” whose domain

3 is R — (-1, 1) some portion of graph is hidden behind
@Z ® 3 - v
© = @ Z =3
6 6 .
7 —y=fx
2 mvalueofcos"(-;-)+3sin"(%)isequalto %
(1 Mark) L e
@ = ®) = X
4 6 Z /J'
2n o (R o T G S S —Y N s
©@ 7 @ & QR e J o g g g s E I B S R S
3. The greatest and least values of (sin™! x)? + (cos™ x)?
are respectively (1 Mark) \'r
2’ 5’ n sn’ Which of the following is x)'?
@ == ® 5 o owing is Ax)"? (1 Mark)
w2 12 n n? (a) ton”x @) cor'x
€ 571;- @ T () sec™x (@ cosec™lx

a. mevaxueofsiniz"--sin(sec-'¢+cosec-’:),when|r|z1. 6.

[CBSE Learning Framework| (1 Mark)
@o ®) -1

@1 @ -2 Page 3

cot™!x = cos™!(~1) - cosec™ (—%)

1
Based on above find tan™! (;) using the principal value

of inverse trigonometric function. Show your work.
(2 Marks)



Inverse trigonometric functions

7. Find the domain of the function:
fix) = %sec‘l(Sx -3)

8. Find the range of principal value branch of the function:

(2 Marks)

fx) = 3cos"(2x1 1) — 2. Show your work. (2 Marks)
9. Find the principal value of cosec™'(2). [NCERTI@ Marks)

10. Evaluate tan™! {sin(— -’2-‘—)] INCERT Exemplar}(2 Marks)

.11
{1. Write the value of cos™ (- —é—) + 2 sin™! (-5)
[Foreign 2014] (2 Marks)

12. Write one branch of sin~'x other than the principal branch.
(2 Marks)

13. Find the principal value of tan™! (1) [NCERT](2 Marks)

= n
14. Find the principal value of cos '(cosT)
[NCERT; HOTS] (2 Marks)

.13 _
15. Find the value of sin(Z sin 1-5-) [Foreign 2013} (2 Marks)

. 9
16. Find the value of tan ‘(tan-sﬂ).

[NCERT Exemplar; Foreign 2013] (2 Marks)

B 3r
17. Write the principal value of tan l(tanT)

[NCERT; HOTS] (2 Marks)
.. [ 1n
18. Find the value of sin ‘[sm(——g—-)],
[CBSE 2020} (2 Marks)

sm

19. Findthepdncipalvalueoftan'l(tan 3 ) [DoE] (2 Marks)

ASSERTION AND REASON QUESTIONS |

e e -~

| SO

In the following questions, a statement of assertion (A4) is
followed by a statement of reason (R). Choose the correct
answer out of the following choices.

(a) Both A and R are true and R is the correct explanation
of A.

(b) Both A and R are true but R is not the correct
explanation of A4.

(c) A is true but R is false.
(d) A is false but R is true.

1. Assertion (4): Inverse of sine function exists in interval
[0, 7] ’

Reason (R): sin”’ function becomes bijective if we
restrict its domain to [-1, 1].

el o . =
2. Assertion (4): Principal value of tan 1) is 5

Reason (R): The range of principal value branch of
T

tan! is (-_2—", 2) and tan(—x) = —tan x.

CASE-BASED QUESTIONS

1. £

Two men on either side of a temple of 30 metres high
from the level of eye observe its top at the angles of
elevation a and B respectively. (as shown in the figure
above). The distance between the two men is 40v/3
metres and the distance between the first person A and the
temple is 30+/3 metres. Based on the above information
answer the following:

(?) Find ZCAB and ZACB (ii) Find ZABC

(iif) Find the principal value of sin-‘{sin(a & %ﬁ)}

Find the principal value of cos‘l{cos(ﬁ + -’-;—)}

2. Letf: 4 — B be a bijective function then 1~ : B >4
is a function such that f[f~'(x)] = x ¥ x € B and
FIf()] = x ¥ x € A. For ensuring bijectivity, domain
of trigonometric function are restricted.

Based on the above information, answer the following
questions:

(1) Find the value of sin™'(sin 10).

(#) Findthevalueof tan"( / 1_"_‘2°.S_JE) ifxe (-mm:
1+cosx

(i) Find the value of function sin(tan™ %).
OR
Find the value of function cos[cosec (¥)]-

Page 4



Inverse trigo

1. Solution of tan™'x — cot™!x = tap"! !

(%)

(a) -3 () 1
/‘

) V3 L
(@) /5

2. fa <2 sin"!x + cosIx < B, then a and B are

@a=0,p=xn (B a=npB=0
T
(c)a=——,B=_ a=Fpg=_"F
@ > B :
3. Iftan"x == 10 for some x € R, then the value of cot!
£i3 2_1! 3n 41
4. The principal value of tan—l(tan%t) is
& - -l 3n
(@) 8 (b) ; ©) 2 @) -
[CBSE 2021]

. 1 . 1
Th I val 1= =i
5. The principal value of cos (2) + sin ( 5) is

®) = @0 @I

TT
(@ 0 )

[CBSE 2021]

in~l a—-x = l _li

6. Show that sin (,/ > ) > cos o

Write the principal values in Exercises 7 to 10:

7. cosec'(2) g. cos™ (— 9)
3n

_ -1 Ul

5. tan'(~ /3) 10, tan(tan 3F)

Write the value in Exercises 11 to 13:

11. cosec”!(y/2) +sec”!(V2)

12, cos"'(coszTn) + sin™! (cos-2—37£)

13, tan”'(/3) + cot‘l(—/%)

- - _l
14. What is the domain of the function cosec x?

15. Write one branch of tan™' x other than the principal
branch.
Evaluate in Exercises 16 to 27:

_ n
16. sin ’{cos(sin" %)} 17. cosec l{cosec(—— -4—)}

nometric functions

18. cos{%-cos"(%—)] 19. sec’(tan! 2)

20. cos™! (cos %n_)

21. tan™'{cos 7}
22. Find the value of sin{2 cot"(— %)}

In the following questions, a statement of assertion (4) is
followed by a statement of reason (R). Choose the correct
answer out of the following choices.

(a) Both A and R are true and R is the correct explanation
of A.

(b) Both 4 and R are true but R is not the correct
explanation of 4.

(c) A is true but R is false.
(d) A is false but R is true.
23. Assertion (4): The domain of the function

fx) =cos(3x + 1) is [_Tz’ OJ
Reason (R): Domain of cos™ is [1, 1]
24. Assertion (4): Sin ~1(-1.0001) is defined.

Reason (R): Domain of sinlx is [1, 1].

.. Y 17w .
25. Assertion (4): Principal value of sin smﬁ is —.

Reason (R): Domain of principal value branch of sin™!
is [-1, 1].

26. Assertion (4): The range of principal value branch of

cosec”! x is [—g E] - {0}.

Reason (R): Domain of principal value branch of
cosep"x is [-1, 1] - {0}

27. Ateacher gives a table of the domain and range of inverse
trigonometric functions to the students and told them
that when we dealing with the inverse trigonometric
functions, we need to careful about their range, which
is defined from restricted domain of trigonometric
functions.

Page 5



[ D]

. IfA=l5 "] and A = 4’ then

. For the matrix X =

. For two matrices P =

y 0
(@ x=0,y=5 ) x=y
(€) x+y=5 @ x-y=5

. If a matrix 4 is both symmetric and skew symmetric

then matrix A4 is

(a) a scalar matrix

(b) a diagonal matrix

(c) a zero matrix of order n x n
(d) a rectangular matrix.

. If A is a skew symmetric matrix then 42 is a

(a) square matrix

(b) diagonal matrix

(¢) symmetric matrix

(d) skew symmetric matrix

. If 4 and B are two matrices suchi that their multiplication

is defined, then (4B)'
(a) A'B
(c) AB'

() 4B
(d) B'A

0 1 1
1 0 1] » (X - X) is [CBSE 2021
1 1 0

(@ 2 ®) 31 (c) 1
3 4
-1 2

0 1

(@ s1

102 1
andQT:[l 2 3]’

P-Qis [CBSE 2021]

. IfF(x) = [

cosx sinx
ik % cosx] then F(x) F(y) is equal to

(1 Mark)

(a) F(x) (®) Fig)

(©) Fix +y) @ F(x-y)

A 'IhcmamxAsansﬁestheequanon[o 2] [0 1]

then matrix 4 is (1 Mark)

Page 6

Matrix

10.

11.

12.

13.

14.

(a) ()]

] 0 @ |o

t64= 3 Fana =[] ] then ind s+ 2gy
INCERT)

0 -1

1 0 -

-2 3

symmetric? Give a reason.

2 3
4 5

Is matrix 4 = symmetric or skey,

O WN NS

IfA=[ ,provethatA-ATisaskewsymmc

matrix, where 47 denotes the transpose of 4.

If4= [ : ; ], show that 4 + A” is a symmetric matrix,

where A7 denotes the transpose of matrix 4.

For the matrix 4, show that 4 + 47 is a symmetric
matrix. [HOTS]
0 2 -2
MattixA=(3 1 3 |is given to be symmetric, fud
3a 3 -1

values of @ and b.
-1

2
3

co i
IfA= .sa sinq
—sina.  cosqu

[Delhi 2016]

HA=| 2, B=[-2 -1 — 4], verify that (4By = B'4.

],verifythatAA'=I

———

3. Ifa=

(@)

Lo
| SE——
=2

® |;

|
P

©) @

D= = = N
(=]
—
Pt b
SN

0 0 1
0 1 9l
1 0 ¢
(@) zero matrix

a M)

;> then 45 is equal to

) 4 ’
(d) None of these



th

10.

11.

12.

13.

14.

1.

.IfA=[

Matrix

3

1
& 2], then 42 - 54 — 77 is

(1 Mark)

(a) a zero matrix (b) an identity matrix

(c) diagonal matrix (d) None of these

. Ifa matrix has 28 elements, what are the possible orders

it can have? What if it has 13 elements?
INCERT L'xemplar| (2 Marks)

. Construct a,,, matrix where, a, = |2 + 3,

INCERT Exemplar] (2 Marks)

1 2
I 4=[a,] = [3 4] and B = [5,] = [3 2], then find

a, b,
+b,,.
oy g 1 (2 Marks)
9 -1 4 P 2 -
CIf [_2 1 3 =A+[0 4 9], then find the
matrix 4. [Delhi 2013] (2 Marks)

. Find the value of x + y from the following equation:

(S e Y

[NCERT: Bhubaneshwar 2015; AI 2012] (2 Marks)

1 3| |y 0f_|5 6 .
If 2[0 o +[1 2]—[1 sl then write the value
of (x +y). [Delhi 2013(C)) (2 Marks)
Simplify
secO tan© o[-tan®  —sec e]
me[tane —-sece] 9[—5006 tan@|
(2 Marks)

Solve the following matrix equation for x,
1 0f_
[x 1] [_2 o] -0,

i [2 4] o [-; j] then find (34 - B).

(Delhi 2014] (2 Marks)

3 2
[Guwahati 2015] (2 Marks)
Write the element a,, of the matrix 4 = [3;],, whose
are given by @, = €** sin jx.

clements a,
[Punchkula 2015] (2 Marks)

Write a 3 x 3 skew symmetric matrix.
[Chennai 2015} (2 Marks)

16,

17.

18.

19.

20.

21.

22.

23.

24.

28.

113 5 _ap_|4 5 -9
IfA—[_2 . 7]and2A 3B [1 " 3l,ﬁnd3.
(2 Marks)
= [ 1 o][x .
Findx,if [x 1] =0. [HOT5] (2 Marks)
-2 -3J|3
2 0 1
IfA={2 1 3| findA*-54+ 16
I -10 ‘Patna 2015; (3 Marks)
2 3
If f(x) = X - 4x + 1, find f(A), when A = [ : 2}.
(3 Marks)
Find the matrix X such that,
2 -1 -1 -8 -10
0 11X=] 3 4 0]. 1157~ @ Marks)
-2 4 10 20 10
If A is a square matrix such that 4% = 4, show that

(I+ Ay =TA+ I [NCERT Exermplar: A1 2014 (3 Marks)

Findx, if [x —5 -1][ =0.

N O
OoONO

2
1
3

X
4
1

[INCER T (G Marks)

0 a
—tan —
4= 2 | and I'is the identity matrix of
mn__
2
order 2, show that
1+4=1-4)|=® "s‘““]
sma cos @
INCERY| (8§ Marks)
2 0 1
IfA=|2 1 3| find4*-54 + 4/ and hence find a
1 -1 0

matrix X such that 42 - 54 + 41+ X=0.
{Delbi 2015) (S Marks)

2 -1 1
Forthe matrix 4=|-1 2 -1}, show that
1 -1 2

A%? - 54 + 4] = O. Hence find 4.

[Guwahati 2015} (5 Marks)
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- + Determinants

. A and B are invertible matrices of the same order such

that |(4B)!| = 8, If |4| = 2, then |B] is

(@) 16 ®) 4 © 6 @ ]_‘6.
_|cos® —sin® . 4
LIfd= Gn'h  oos 9]’ then adj 4 is
cos® —sinB ~-sin® cos@
(@ [sin 6 cos6 ®) [ cos sin BJ
cos® sin® sin 0 cos O
© [—sin 8 cos 9] @ [cos ® -sin GJ
. |4 i
. The matrix [ 1 :;,: g] 1s singular matrix, for k equal to
@0 ®) -1
(© 1 (d) no value of &

. If the value of a third order determinant is 7, then the
value of a determinant formed by replacing each element
by its cofactor will be

@7 ® -7
(c) 49 @ 14
. The values of ‘x” for which g _Z’ =x? — 12x are
(a) -2, 14 ®) 2,-14
(c) -2,-14 (d) None of these
. For what value of x, the matrix [ 3 5 ¥ x;- IJ is singular?

7. Determinant of a non-singular matrix P of order 2 is 12.
Find the determinant of 7.

8. If 42— 34 + I = O and A is a non-singular matrix, then
write 4! in terms of / and A.

9. If the value of third order determinant is 12, then find
the value of the determinant formed by its cofactors.

10. 4= % anda'=] 1 9 find the vatue of x.
X x -1 2

11. ForA=[f :;‘]writeA". ICBSE 2020}
011 231

12. Find 4™, if4=|1 0 1|andshow thatA™ = =——
110

[NCERT Exemplar]

1 -1 2
13. Find the adjoint ofmatrix[ 2 3 5}andverifythat
-2 0 1

A(adj 4) = (adj A)4 = |A|L [NCERT]
1 0 0

14. Find the inverse of matrix [0 cosa sima [. INCERT]
0 sina —cosa
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l_ _ Determinants - o

ps 2][-2 0 -1 b
. 9 2 -3|tosolvethe 4 Ifd= 3 2 "4] find 47. Hence using 4 sqy,
1. Use product [0 2 —3 3 1 1 =2
3 -2 4] 6 1 4 3 : the system of equations 2x — 3y + 5z = 1];
=1;2y-3z=1
system of equations ¥ — Y +2z Y 3x +2y—4z=-5;x+y—2z=-3. [CBSE 2020; A| 2017
By de=2 £ 5. Ifd= i 21 i find A™! and h 1
" following system o d. = ot S ence solve the
2. Using matrix method solve the % 3
linear equations: x =y + 22 =T x4y - Sz =5 system of equations x + 2y + 52 = 10; x — y — ; =
2x—y+3z=12 [NCERT: Delhi 2012 and 2x + 3y — z = -11. [Foreign 2017]
. 1 22 0
i is X 60.
3. The cost of 4 kg onion, 3 kg wheat and 2 kg rice is 6. Ifd=|2 1 3|, find 4 and hence solve the g
The cost of 2 kg onion, 4 kg wheat and 6 kg rice is ¥ 90. 0 2 1
The cost of 6 kg onion, 2 kg wheat and 3 kg rice is T 70. of equations x — 2y = 10; 2x + y + 3z = 8; and
Find cost of each item per kg by matrix method. [NCERT] 2p+z=1. [Foreign 2017)

% Do Holiday HW in a separate notebook.

1 1 1+cos6 7. If A is a square matrix of order 3 and |4| = -5, then
1. Maximum value of A= |1 1+sin0 1 |,0is ladj A| is (1 Mark)
1 1 1
a) 125 b) 25 c) 25 25
a real number is (1 Mark) @ : ®) © I id) 9]
(@) _1 () 1 (© 3 ( _3 8. Let matrix X =[x, jlis givenby X=|3 4 5| Then

2. If A and B are invertible matrices then which of the the matrix ¥ = [mij]’ siliere m, = Minor ofxy, s a

following is not correct (1 Mark)
(@) Adid =4|47"  (b) det(4™) = (det 4)™ 7 -5 3 (7 —19 -11]
© @B =B (@) +B =41+ B @ FAt A S A
3. Let A be a non-angular square matrix of order 3 x 3, : ' ; )
then |4 . adj 4] is equal to (1 Mark) ; ; 15; -11 7 B9 —li
@ |3 1 7 -1 -1
@UP @ U @O @ 4ot S O
4. Let 4 be a square matrix of order 3 x 3 and k a scalar, ) )
then | k4| is equal to (1 Mark) . x 2 3 | p
(@ k4] ®) |k||4] 9. If x=-4 is a root of ; ; ; = 0, then the sum
©) Bl4| (d) None of these the other two roots is | (1 Mark)
5. 3 :
Ifcly denotes the cofactor of element py of the matrix P ( a) 4 (b) -3 ( C)' 2 (d) 5
-1 2
-2 f poi llinear, then show
‘ 2 8L tienthe value of Cyp Cpyis (1 Mark) 10. If points (2, 0), (0, 5) and (x, y) are collinear ‘
3 2 4 thatg-+%=1. (@ Marks)
@ s b ’
o © ‘_24 = 11. If 4 is a square matrix of order 3 and [34| = 7€|#4!: then
g~ ks [ > -i] |43 = 125, then the write the value of k. R
@ +3 7 (AMark) 13, 4 is anon-singular matrix of order 3 and |4| =~4. Fiod
D3 ©z1 @1 |adj 4]. [HOTS) (@ Mirke)
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Subject Hindi

1-reax AfSa et & ATETH G 9IGT Ta 78 HIET & IeRTel hl FASSU
AT I8 T TATST T 37 37T H HTHATT FH SSHT ST HheT g | (HTT H)

2-g R T T+ eaRT fA Tl ALRITe i fFheel 10, 12 afFaat r faf@e s
Hmafrag?rqaqﬁt-r HLAT BT | (PISeT Ul )

3-foheer &F Cfateh &S AT I & HUTeehI 56 A 31T BIeR oI, HUIeehrd
3T, E0H oIeT 9T T, HUIGeh o ATH 97, 31T @ 3171 &l shrean 3T
3eToh TR H AT for@an IRIISTAT FRT IR Y | -S4 HIeR ofde fohdl Fgd & T8
Y forgr STar & 8 IR 37T & IR A 87 ford(wis e #)

Me-92 2 3R 3 & TWATCHS FFaTFaT & T v BrEd aa1v| 5w @
9T 1w A srffcafara Rarens w7 & FX 1RE Y gv6 & 910 3T (left
side) TTTST & AT fRAqa1U|
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